RD Sharma Class 7 Solutions chapter-
20 Mensuration-| Exercise-20.1

EREYCISE = Qo]
Solukion .-
iy we have,
_entth = 5.5m and, B¥eadth =2.4wm
WIKT,

Avea of o veclangle - | enpbh % Bieadth

CRhiea af a 'nf.'rl.nn_fﬂé = L:5wi R

= jg.am

vy we have,

LErL;!.:_il[L". = |Boom, B‘It‘ﬂd‘th = | 50¢m

LIE Ko that, 1m = jpocm . =

lew =
1o
i
Length = IS0 em = |RBOA o™ =l-ewm
Breadth = 15ccm = IEUK-::nm = s
I

Pea of o Teckangle - Levphs w8veadu,

l=BrmE .G

3

= H.9m

AYea of o veckemgle = g 4 .-

Solution -2 -
) we haWe.

cide of the Sguavye = 2. 6cm.

we know that, avea of a Square = cidercide = (sideyt

- Aven of the Squove - B-Cevy V0.6 ©m

= &.FEcm-
AYEa of Hhée S9ueye —6.Fcemt
Uiy we have,
Side a¥ tl}e Ca uare = l= Sl i

we REnowd that, |dm = le v [ clvn --'f:,lf“r;n-mlq"-j

L af the Sauare = 'L'S'-d?f

i€ of the Squarve = 1.8dwm = 1L&%iocm

= I8
L AvVEea of ‘E"'\E‘ S59uaTe - ISemy e

= Ir‘fﬁl--:m‘__



Gy we have, Lenpbh =qemsdm™m =9smx+ 5* loem.

Solution-5 .-

Uy e have,

Lengbh = 1RE™ , Bread s = Yoom

Axeo ofF a thl—ﬁl?\aulﬂ'\" {-'n.’hi iy l"\ec& o s, = P

WeE know) Haak,
A heckare — i) mo =lo boam—
5 _

o frea ofF a fEcLaﬂﬁmV 'Eéel.::l _

Lengkh v preads,

1

t&ﬁn"ﬁxqc}bm

= E0,000Wm
=
iy = 0

hectares.
lo,o00 d

o Bwea o o I’ec{a‘r\ﬂulq}{ Field = se,000%1

—— hectaves
[i=M=T=Ts
Prea of a rslnnﬁula‘l’ field.. & hesdaves.

15 E sccms—[emt?ﬁ‘"
= s -5™m
Rreadtn = 1Bom.

S Avea Of a Tec L—uﬁaula-( field = I.E,\ngéjch\:fﬁ'l&:\dth

= 5.t dom .
= Jocom—
-
' = -l_
we know ek, iwm quaakedn'fes-

Avea of a rectangular field = 90660 mhectores
losooo

- Avea of a velbngularfield. ™ ©- %o heclares,

Selukion -o6 i-

epiven that

Pootr of lenfbh cam emd Breadih =am.

wall  of Lengbtl, = lom ond Breoddls =iom

Kvea of Doct = Length ¥ @veadtla of dooy
= awmiam —g.

Avea of Wall =

Avea of Painting wal| =

fosk of

cosk of FCLihLlnﬂ_ﬂ Wsl = 4250 =

Length ot Wall x Breadth ol g
lem*ieom 2 joomb

ATea ot wall- preq of Dogy -
= Ilpem— -&m— =4 m—
Painking Wall = 44 X Rep 50

2 :
C*r cesk puv 1078 Painking = RS % 54]

* Rsdis




Solutien —o7 -

TS given thact.

Rectangulay shaped wive of Length = Yocm.cmd
Areadbh = Sacm.

Given thal Pevimetey of Reclangle = Pevimeler of Squave,

Cor A wiveie (nthe shape of Reckomgle is bent in Sguave

Shape].
4 20Lkb) = yisided
= 2(uotad) = ylided = iAuem = Yiside

= side =3lem.
Avea of sauare = @iIYe qgicmt

fivea of Reclangle = yoyn: -8 e oem™

. A=csider]
CoAazddb] .,
Squave  Encleses mMore aveq.
solution-o8 3- |
Tt i gwenthat.
Window , Pane of dimensieng Lenghh = agcm

Brfead b =lgcm
Avea of Fanég

= pone Lenpbh v Pane Bread by,
= Recm %igem
‘ = Yoocm* |
‘ = Y [lcﬂ‘?'t A nd
| A Y ? m"'" lo,oen
| Le,oql

i
= o.oY4m

ATea pi Window

12 % Eackh Pone

Avea

L.y mT = o.yg o

glass Wil be T duited fer a window = o4 gm’

Solution-o9i-

ITtis given thal.

Movkie Leagh, = locm ond BYeadl =i18cm.
kall pf Lenghh

amd Ereadbh = km

L]

A

S ATea

of Maxbletile =Llenglh af biley Breadb, af
Lile
= leemi l2om =)ap,e+
= ofaen” [ omts 2 ]
oypoo
Avea of Kall =3mwm o §m = 131"“1_.

Ne . of biles reguived = F\.T._._EQ—O{—HMH TR
Poyea af H.F'nk“' fule B0l

=wpoo ke
Total cost of the tiles for covering af lall =looctigss RSQI“H—




solution—|oz-
given that,
Takle Lop - GdmScm = 9%oemd 5cm EaE

Takl€ Long = fdw 50 = Ellocmt S0m =65cm.
Avea of Takle = Takle Topy Taile Long

= Ag5em Xégom .

= Elgemt

cost to polish table = g)as5420, Paise

[ ' cosk per 89.¢m Ppoligh = &nPtJE‘E]
.. cost to pouish Table - I RA ple

= Rs.lais.

L ries =100 Palsd]

el
Solution 113~ I
It is Griven that,
Room Lenéuﬂ‘-—:}-sgm and eYl?qg-:lH-‘ f_w.’de]:slzm.
Rectomgulay tile af Lendth = 29em
Breadth = jpem,
Coct pev tile = ge 2.50. ;
Avea of Room = q.8a%b.a v =g nlem™
Avea of Reclangylay tile = @ emAtinem = Q8oew
= o.caam
MNe-otiiles = ﬂjeq—o*_ﬁfL - e GeOlép |
Avea of Reckangulay bile ET

= g aakiles.

. cost of the tiles z21RzvRsaso _
= Rs 68480

.S(;'Iu.’:.iﬂﬂ-—ln”lé‘ )
Given Squave ield of side =riqm.
Avea of squavefield= 119 m x 159m .
= Saoqlma"
cost of Ralsing algon on the field -
Rs i-50pPev 89 4.

Molo] cost of Balsing of a Laan onthe field =3304ixi-5

= RsYg, 06l.54 Podser |

Total cosl= Bs Yy, 06150,

Solution -t :-
Given thal,
co~vvidov of & schoo) Lenéh-. = &m
BYeadbth = & m
convas sheel Lenbl, — am.
BTeadby =1m
Avea of a rorTider = LY B = 8mM wyam
=Y4gm-

1=
cavas Sheet A¥ea = 2myim =am-

rde
o of sheelbs = Aveq of covri v! s.\-n‘;'_
Carve s sheel Ayea  2m
y =y

Cosh of the canvas sheets Y€9. 4o covev bhe
| cosidors 3y Rs.g = RS 194,




Selution =152
Fhwan I -
Play ground Lenpth = €am gocm = "6a+ C'CL‘:L:‘GW\
= £&-6m.

greadth = s mypem -as54 40 0
[1=1=]
'—.EES.L]T'\-

Atea of aplay ayound = 6267%25°4 3159004 -

cost of tufinmg =1590. 04 % 2.5 = Rs3q4s,

Pesmeter of @ play gyound = 2(62.€ +25-1 = iem.
Pevimeter of SHmes voundthe fields 3% grm=52m
s And ke ch:H:s Emlgec. g

=iy Secends = Ymin2h secods.

Time = —
&

Solution—1€ 3- ]
Lane lengbh= ikom and BYyead b =5m.

B¥icks of Lengbh- 2 oim and Breadis = 15 ¢
= q 4
Avea pf o Lome —laom+iEmM = Yoom
MEo of o Buick = RBCMXISEMm =2ocom-
= Ao
D"“—o,d'hﬁ
o, 000
Ho-of Beicks = 0Fa of Lon _ 9np
e a of Byick o
T3t.p00.
Total cosgl of Bsicks = 30%RsT50

—.:!58&"3 oo [': coskper
loeo bricks
=Rs1%4].

Solukion-17:-
cheet of PaPer Lenkbh = \ascm{ Breadh, = gacy,
piece of Paper of side Lenpth=hemd Breidtist
shee L of Paper Area = RscmXsscm,
Fiece of Paper Avea = NMemxge,,
No of envelope s = Smw_ﬂ’-ﬂm
Piewp of Papey Avea

= ‘aﬁ{-Vﬂg%ch)
T ——— e
=1
Ferm Ag ew e el

125cm of enveloPes can Le made oul o'r"‘sl“‘el-

Solukion-1g2-
The widthof A clobh = 1M6em
Length of o cloth= 2 = &
No of diapers =4S

Piece of clothh Lengbth = 50w and

= A

Byeadth =

No of diapexs = Area af acloth

AYeo aof apiece aofclob,

8 Iecm v 4
B0 cmt iCm
A5 t500Cm & X a3 A e

\o



Slﬁult;b‘h al -

(e dawaengion 51;_ o lall
ljl.ensf-{\: By v = :’..
1

1.341:3,1—&_’!*"\ = ALl ——-‘.'h
o A C'E-Quen oecen ‘D*_ Hoert end windmor = Somt

Dot Bele He haght of e fedits

Prees Eyi_ F@.;I:-_ﬁn%
= Jular lehs by md bxh -

dhe  hall

tha g LJ.‘,.JM‘g

el oS

(2exh + 3exh+ 2uxh + Juch — &P Y™

- axhf 2e4+au) — RO
» (lroh - g0t
,’,Tnlnj avea § F““"”‘“"‘*% =Glﬁ:}];\—@:0"3m"'.
1de fronr 2

Cost o] E:n.fem’n,s
Cwost 'Bq_ Pﬂ{w\enx_} e walls = ¥y gqypg .

Abee wsedla  pes Aet o BEoqe

Lo iy, we %e_.t'
Total ovea o Papesing g4y ) 2 BT407

Bub el houe ) etal  e¥ea = (Japh—goymE

yrobh-&0 = e
1’101‘1 = 1’]0&

\
‘-'_—>1"\-"'[q_l:‘=‘1t}m

h 'l—,\e.‘ufn'c 1)",— Hhe all = oM




chapter-20 Mensuration-|
Exercise-20.2

Edervcise-8o0-2 .

Solukion -oli-

LeEAR cpe bE Ihe BYyassy Lapan

be bhe egiternol boundayyeg
e hay e,

cand Lebpg g

&F the Pe =

"

Le “E_’;‘t‘-'; Bf AR S Yom
REveadii, o Be 25 m

Axea 0f Lawn Apcn = Yoyac,

[ Fal=Tal
= GOt m®

Leng by

BF P& = (Yotatgy,,
27 € by

oF @R LES4242)
--Avea of pagrs - UY xaqm™
I B
[
Aree  ofthe Pa th

Z Axea OF P& es - AT e

OF Plavan
Cl27&6 -igon E

Q-" € m =

{C

C ol | (5 F ]r;".-'e'_'tlf;-l‘_."l'ui? Path, =8

o <) x RS‘E-J.;-

~ Rs Aa~q
sSpolukion —p23-

Let Amcn Le thhe
bne

Squaye Pavic Anvg,
-2t Papg
5 he
inkernal boun daries Ofthe po i
wre have,
Lemd b AB =3om

7
Lewn L:;k—ln. FPa

Side AT
Bom-am

= &ﬁm:‘s%depq
AYeo O ABcp - B oMY 20m
Toom®-
A¥ea of papg =

LR pey L0 by

M | ‘QL!ML
‘To-tcu.rost:nsn‘}ﬁ'
Cost Persq.p. = RS9 ¢
f\'e'.e*c\
= £shig
T8y

Fs .

s pey £9 .



Colukbion-04'-
Rectamgular ghert
Lengtl, = 262

Breadbth =Eoecm

Asea = oo X8 cm-

i}

Boeo (_'m’_‘

Squawe 0f side =lodm

fkrea of SLua¥e€ s lax|oemt

T loeoc n.—?"

ATE€a of Y aqguarey = Y X0 ey
S Yooepmt

AEa OF Remaining sheet =A¥Ea0f Teck - Yx Aresoisg
*:.‘Bboacm-i‘—ltbncr: =1 bon e



